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NEW

2015
Part II 3-Tier
ECONOMICS
PAPEI'{--II
(General)
Full Marks : 90
Time : 3 Hours
The figures in the right-hand margin t:ndfcate Sfull marks.

Candidates are required to give their answers in their

own words as far as practicable.

lllustrate the answers wherever necessary.

Group—A

Answer any three questions : 3x10

1. Discuss the process of construction of Human
Development Index (HDI). 10

2. Describe the Lewis model of economic development where
labour supply is unlimited. What is vicious cycle of
poverty ? . 7+3
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10,

11.

12,

Briefly discuss different stages of economic growth as
identified by Rostow. 10

Explain different criterion of investment. 10

Write down the arguments for and against free trade.

Briefly discuss the functions of World Bank. 5+5

Briefly discuss the nature, causes & effects of first

industrial revolution of United Kingdom. 10
Group—B
Answer any eight questions : Sx8

Briefly discuss the features of the developing economy.

5
What is low level equilibrium trap? S
Briefly discuss big push tﬁeory. 5

Evaluate, briefly, the strategy of balanced growth. 5

Briefly discuss the role of technology in industrial

development. 3

Discuss about the indicators of economic development.
5
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13.

14.

15.

16.

17.

18.

19,

20.

21,

Write your opinion about the role of foreign investment
in economic- development of a developing country. 5

Write a note on International Monetary Fund (IMF),
: _ s
Briefly explain the importance of Social Protection for

economic development of less developed countries. 5

Propose some measures to increase savings & investment

of a country, S

Write a short note on ‘Planning for full employment in
China’. 5

Briefly discuss the role of agriculture in economic
development of a developing country. 5

Briefly discuss the enclosure movement of United

Kingdom. 5

Write a note on rural industrialisation of China., 5
Group—C

Answer any five questions : S5x4

Differentiate between indigenous technology and
appropriate technology. 4
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22,

23.

24.

25.

26.
27,

28.

29,

30.

What is unbalanced growth strategy ? 4

Mention the problems of domestic capital formation in a
developing economy. 4

Very briefly discuss the role of technology in agricultural

development of a developing country. 4
What are the obstacles of economic growth in less
developed countries ? 4
What is gains from trade? 4
Discuss the different forms of foreign investment. 4

Write your opinion about foreign direct investment in

retail trade in case of India. 4

Write vour opinion about the application of labour
intensive techniques and capital intensive techniques in
4 country like India. 4

Suggest few measures to arrange land for industrial
development. 4
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